1. KanengapHbIv y4eOHbIV rpadmk
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2. CBoaHblE AaHHbIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wroro
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero
TeopeTnyeckoe 0by4deHne 19 |161/3|351/3[182/3(171/3| 36 |182/3|182/3|371/3|142/3(131/3| 28 |1362/3
3 [2k3aMeHaumoHHbIE ceccumn 2 31/3|51/3|22/3|31/3 6 22/3 2 |142/3| 2 2 4 20
Y |YuebHasi npakTuka 11/3|11/3 2 2 11/3 11/3| 42/3
M |Mpou3BOACTBEHHAsA NpaKTMKa 2 2 11/3(11/3]| 22/3 | 11/3 4 71/3
I |loc. ak3aMeHbl u/unu 3awmTa BKP 4 4 4
K |KaHukynbl 2 6 8 2 6 8 2 62/3(82/3| 2 82/3 |10 2/3| 35 1/3
UToro 23 29 52 |231/3|282/3| 52 |231/3|282/3| 52 (222/3]291/3| 52 208
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